OQ,(,.QQ Le%‘o.\ IQ
Chen Rule % D@'(“\\}jftw— 0)0 Aechecl ,@

(et m U’O

[ayL ‘{’(\"'l& C Lq,‘y\ ?mlé Lv.)/ /7()%/&5 p‘-—t (‘f

Adrscoe)]s £Cam) 9'w

Ax
Wasks  He  Sune  voibl o Hor Lot we Q&
—@l[jin U:’: CosSu g‘_ﬂ (N&d i( [/,,, X]: | _;.((_
dx A x | d x
J s U [ = -Jchy QL‘{* | _QJL (QK u]r 1 C»_Zji
e LD
X 5 or U’
e A

-—

l
9] “ &
_éio. [@ ]“ < ‘Q)l — Now (e heve Lo el

Ax ox

7



Ereple | Eid He  Thiyutees

(& V= Cos(x®) (L) vee 3% H
Lok = xC Lot A= 2 Xy
gp_z = Q’ d—li." iy_ = €3x” Q_L"‘
Ax du  Ax x AX
=-Sin(x") 2X - @3*‘” (D
—=-2xSih KD =3, IXH

2 3 q 2
Exeple & ys (2x-0) ( x"+y)
Co \/l(” £ \ 0) Def e the Il/tS/‘a'é

\ \

Vv
v'= 'y + €y’ 0'= 3 (sx-2)t ('35/)

= QC(SA’~2>2 /

pZ

(

v
g'c 2 (x%¢d) (2%
¢ 9 = U ("
A "

Y= QCBX'CY'(}(%#Q‘)Z + 3(><,a§(><?+ C/)Z
VA U

£ 3‘
V) = G (D) (-0 5)°
T .28 -2+428 = 6:25= /SO



E)((J "’Plez Zf “Iv ' L‘&B: J.;~ Xz iﬂ
3 x 9
'F' W/(L-h 1~ (¢

f,/\__,_/\__——\ 3
h'= é ( 7- xf)"ﬁ?ﬂ(@ x) ~ )}j(?(?)

.—._, ’
Fad 4 (.’_)

GBx)e < - 9°
‘;.‘/? S
s (F-ED5) k=) - J7 Sent TG
(ze)*
= ey 2. e e
ey s /e
Y 9
sz ey 1 o A7
Z ” Ao /3

E xumple 4
eere V= Msec™ 12y Fud y'eoT)

Y. 9( §6C(Qx§)/§<’c(2x) ton (2 xj) ()
T TN ——

kn- <
ping e e e o J 4
Z (Sec 52x;\( dale e o4 s p
dx N
/
- ?
vy Sec (2X> *QM(ZXB 4o (rm) =@

e

\/'TT:)—L(‘( ‘4 /E/; =
— Zg - (5‘66127{)) o '2*5‘ o



E 5
/ME___ y= & SMZCEXJ Fol \/'Cfg—:rj

V(= §(2 s (7630 (6 ) 2
d s m3 ]

dx

Keep wndside

t

v's 20 Sy (3x) CosG X

Y Ty=3 0 splm s (> = O
3 NA—

N

<o =1

Examﬂlé é -Fé() - C?X '\Loan (QX) ?:Maﬁ pl
Exempl€ ©
. L\(BX J ?A g
Qo= ) + o S (o)

3X ‘
- ¢ (?‘(‘Gn (2x) 49Sec“(2 x)>

E ruple 7 N H x At ]
—""‘3'0:1'0—_/— (X>—\ < X Z’)( 3 C_}.; -
ht, 9} (/‘ B 4
l ’\ , ‘{L\!
Cloz L) dwd + w0 =
2 o
- §—L Doty 4 \Jox
2 X v



Erple 9 pine 3hax 9 o)
7 -ax
{
9 = (73 1= 3 x (-2
(7-3x)°

= (‘?vzelé t Alee) = 2 _gq1g

(7-3e)° (7ze)?

= 2Y
o(7-3¢)°



E X'a,w'ace. [O

At Sea /e(/c/&/ aN [Pre SSwe 'S S0 M chos o€ el cury .

At an altilide o8 & Lot alyp  <p, Leyel

He aw Pee 5c e P; in  -Meles y@“ M@CW)/ ¢S 60\/‘0\

7/

é}' ‘L((, ‘C-Mw Ovy
P g0 @ 0 QOCLZ1A!

DoAesmare  The e o change  of  dhe Lot ppec,.

. \ -—0000 21
P'= 720 (- 0.00002l) e oozl

= —0.000 qae-o,aoooﬁ th

=~



